BRREHR

SM6EE 4R 5H 6HR 7R 8H 9A 10A 11A8 12R4 18 2R 3A At
BT —fig A 122 158 225 149 156 164 178 172 151 149 136 153 1,913|BTR—#%
(500M) | 5 61,0000 79,0000 112500 745000  78000[ 82000 89,0000 86000  75500[ 74500  68,000[ 76500 956,500 (500M)
BTN /65F LIE-BEE | A% 244 282 256 279 190 245 239 261 229 253 255 240 2973|BTN65F LI E-BEEH
(400M) | &5 97,600 112,800] 102,400] 111,600  76,000[ 98,000  95600( 104,400]  91,600[ 101,200 102,000 96,000 1,189,200 (400M)
BT BREUT A 81 147 203 163 137 107 61 44 43 47 33 64 1,130[BTNERELUT
(200M) | &5 16,200]  29,400( 40600 32,6000 27,400 21,400 12,200 8,800 8,600 9,400 6,600 12,800 226,000 (200M)
BTN SR ELUT -EEE A% 0 0 0 0 0 0 0 0 0 0 0 0 O[BT NERELT (EEH)
(100M) | 23 0 0 0 0 0 0 0 0 0 0 0 0 0 (100M)
BT5h ~—Hig A 175 174 241 310 330 261 137 136 111 170 130 132 2,307 (BT 4+ — 4%
(1000M) | #m| 175000[ 174000 241,000 310,000 330000/ 261,000 137,000 136,000 111,000 170,000{ 130,000/ 132,000 2,307,000 (1000F)
BT5 /BRREUT A 74 100 199 260 331 152 35 33 22 59 51 46 1,362[BTSA EARELT
(400M) | 25 29,600 40,0000 79,600/ 104,000] 132,400[ 60,800 14,000 13,200 8,800  23,600[ 20,400 18,400 544,800 (400M)
BaE S —#& A% 0 0 0 0 1 0 0 0 0 0 0 0 11558828 (—#%)
(500M)| &5 0 0 0 0 500 0 0 0 0 0 0 0 500 (500MH)
Biad S EREUT A 0 0 0 0 4 0 0 0 0 0 0 0 4ERE (ERELUT)
(200M) | 25 0 0 0 0 800 0 0 0 0 0 0 0 800 (200M)
REE S —f A% 1 2 0 7 28 2 6 5 7 18 0 0 76| IgBE| (—f%)
(500M)| &5 500 1,000 0 3,500 14,000 1,000 3,000 2,500 3,500 9,000 0 0 38,000 (500H)
REE S BREUT A 3 8 0 2 26 9 0 0 2 11 0 12 1BIFEE (BRELT)
(200M) | 25 600 1,600 0 400 5,200 1,800 0 0 400 2,200 0 2,400 14,600 (200M)
ARS8 (—fg 15)| A 351 403 398 375 330 261 204 173 148 148 120 154 3065 R ERTN1E  (AHE)
(—#% 90H)| A 226 133 82 86 86 77 60 92 81 84 67 69 1,143 " 90H
(KEWHEE 15)| A% 9 29 40 53 91 222 258 311 322 358 346 359 2,398 (kEhEE 14)
(K EEEE 908H)| A% 44 149 214 209 248 274 237 266 259 274 277 306 2,757 (kEkhEZE 90RH)
(BREUT 15)| A% 0 0 0 0 0 0 0 0 0 0 0 0 0 BREUTI1E
(ERAELT 90H) | A% 0 0 0 0 0 0 0 0 0 0 0 0 0 1 908
HSNSE8 (—f 15)[ Am 112 99 127 122 137 131 122 117 99 109 103 105 1,383 KBRS E  (ABH)
(—#g 90H)| A 293 367 317 311 287 369 323 325 334 385 417 375 4,103 " 90H
(BREUT 15)| A% 0 0 0 0 0 0 0 0 0 0 0 0 O[S BHTH ERELIT 14
(ERAELT 90H) | A% 0 0 0 0 0 0 0 0 0 0 0 0 0 1 908
IR (—#8) | A& 28 28 54 36 25 37 27 31 28 31 25 32 382|E%E BTN —f
(SEh-EEEH)| A% 4 5 2 4 3 8 6 10 6 7 5 7 67 =k -EEE
(BREUT)| A% 62 146 167 113 30 128 102 103 70 78 76 81 1,156 BRELT
BT 5} B 325 (—#8) | A& 70 88 93 98 107 90 102 119 99 99 80 91 1,136|[E1%h% ETHF  —f%
(BREUT)| Az 15 3 3 22 46 15 2 0 5 7 17 5 140 BRELUT
RIUTAT (HR—4—) [ As 0 0 0 0 0 0 0 0 0 0 0 0 0[RS>T47
B ER) A 6 14 25 0 0 0 0 1 1 8 5 0 60|12 (L)
BTRSES (—# 14) An 2 0 0 1 0 0 0 0 1 1 0 1 6|=8% EIN—A14)
(35000M)| 23 70,000 0 0| 35000 0 0 0 o 35000 35000 o[ 35000 210,000 (35000M)
(—#& 908)| A% 0 1 3 0 2 2 0 2 2 1 1 1 15 (BTN—#%90R)
(10000M)| 23 0 10,0000 30,000 o 20000 20,000 o[ 20000 20,000 10,000 10,000 10,000 150,000 (10000M)
(kEEEE 146)| A% 0 1 1 1 6 2 2 0 1 1 0 0 15 (kEEE 14)
(24, 000M)| &5 o[ 24000 24000 24000 144000 48000 48,000 o[ 24000 24,000 0 0 360,000 (24, 000H)
(kEEREE 90H)| A% 5 5 2 7 4 1 6 4 3 5 6 3 51 (kEkhEE 90H)
(7, 000M)| &1 35,000 35,000 14,0000 49,000 28,000 70000  42,000[ 28000 21,000 35000 42,000[ 21,000 357,000 (7, 000M)
(BREUT 15)| A% 0 0 0 0 0 0 0 0 0 0 0 0 0 (BREUT 14)
(17, 500M)| &5 0 0 0 0 0 0 0 0 0 0 0 0 0 (17, 500M)
(BRELUT 90H)| A% 0 0 0 0 0 0 0 0 0 0 0 0 0| (ATNE#ELITFO0H)
(5, 000M) | #3 0 0 0 0 0 0 0 0 0 0 0 0 0 (5000F)
BHNSES (—H 145)| An 0 0 1 3 0 0 1 1 1 0 1 1 I=BEHF  (AIS—M14)
(70000M)| 23 0 o 70,000] 210,000 0 o[ 70,000  70,000[ 70,000 o 70,000 70,000 630,000 (70000M)
(—#&8 908)| A% 12 5 0 10 6 3 8 6 4 12 6 2 74 (BTt —#%90R)
(20000M)| 23| 240,000 100,000 o[ 200000 120000 60000 160,000[ 120,000 80000 240,000 120,000] 40,000 1,480,000 (20000M)
(BREUT 15)| A% 0 0 0 0 0 0 0 0 0 0 0 0 o (AISERELIT1E)
(35000M)| 23 0 0 0 0 0 0 0 0 0 0 0 0 0 (35000M)
(BREUT 90H)| Az 0 0 0 0 0 0 0 0 0 0 0 0 0| AT/ E#&ELITFO0H)
(10000M)| 23 0 0 0 0 0 0 0 0 0 0 0 0 0 (10000M)
B % (BTR—A8) | % 2 5 4 5 4 2 1 3 3 3 2 2 36|E%E ETH—AiR)
(5000M) | &= 10,0000 25000 20000/  25000{ 20,000 10,000 5,000 15,000 15,000 15,000 10,000 10,000 180,000 (5000F)
(BTN -EEE)| % 1 0 0 1 0 1 0 1 0 1 0 1 6| (BTNE#-EEE)
(4000M) | &= 4,000 0 0 4,000 0 4,000 0 4,000 0 4,000 0 4,000 24,000 (4000F)
(BTRERELUT)| % 16 9 13 7 3 13 7 8 8 3 7 3 97| (BTRABKRELUT)
(2000M) | & 32,000 18,0000 26,000 14,000 6,000( 26,000 14,000 16,000 16,000 6,000 14,000 6,000 194,000 (2000F)
EETS (BT —1R) | % 8 5 13 10, 8 9 11 10, 9 5 9 9 106|E%k% (BT —AR)
(10000M)| 23 80,000{ 50,000 130,000 100,000/  80,000[ 90,000 110,000 100,000] 90,000 50000  90,000[ 90,000 1,060,000 (10000M)
(BT BRELUT)| % 1 1 0 2 4 2 0 0 0 0 1 0 1| ETHEREUT)
(4000M) | & 4,000 4,000 0 8,000 16,000 8,000 0 0 0 0 4,000 0 44,000 (4000F)
5 EEF | 855500 703,800| 890,100| 1,305,600| 1,098,300/ 799,000 799,800/ 723,900 670,400| 808,900 687,000| 624,100 9,966,400|55Y £ (+& 5t
BTAFI AE A (N 1,177 1,494 1,666 1,467 1,296 1,523 1,372 1,464 1,338 1,437 1,345 1,465 17,044|RTRFIFHE & &
BTohFI FEE A ST (N) 743 841 980 1,132 1,297 1,029 727 735 679 858 798 766 10,585 |4} I A& & &
FIFAE NG (A 1,920 2,335 2,646 2,599 2,593 2,552 2,099 2,199 2,017 2,295 2,143 2,231 27,629|RIFE/NEE
Z D&
EEEE: [ =] 27 31 29 31 28 30 28 30 28 30 28 31 3si[EERK




